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‘ Answer ALL questlons"}_"f__..; f. T T
ALL ques’nons carry EQUAL marks (5 X 1 = 5)

| l ':The ﬂower can be cut mto two equal halves m any Vertrcal plane 1s known -
SRR (1) Zygomorphrc ): : (n) Asymmetrlcal
R (111) Actmomorphrc e '3"_j (1v) Irregular s

o A “The phenomenon of photopenodrsm was ﬁrst dlscovered by

"}"'_',(1) Julius von Sachs | (11) Stephen Hales .
S (i) Lehrbuch der Botamk (1v) Garner and Allard

PO | "'f:_After fertrlrzatlon ovule develops mto
. (O N Integument RN (u) Seed L T
ER j_g-'(ul) Embryo (1v) Endosperm R

18BOU05—_ o ;_].;} S

. 4 When pollen tube enters through the 1ntegument is: called o i L

(i) Mesogamy. (n) Porogamy
el _fij(m) Chalazogamy f'j{ (w) Isogamy

K ‘5. s a srmple ﬂeshy frurt whrch develops from a’ syncarpous, 1nfenorcvary

(1) Legume e (n)Pome : R C N R TR
(1n) Achene (1v) Sorosrs R

Answer ALL.'Questrons RN '

ALL Questrons Carry EQUAL Marks (5x3=15) . R

o6 A Explam any three cohes1on of stamens
San " “OR:
o b “Descrlbe vertlcrllaster mﬂorescence v
T a erte the drfference between Pr and Pfr forms
jbv_: Summanze the bxochenncal composrtron of phytochromes

i -8 . a. _'Narrate the 1mportance of Nemec phenomenon
i o OR |
R _._’_';-Comment on pollen morphology
o : 9 a j;Explam rummate type ‘of endosperm

i b :. Dlscuss the development of embryo in monocot plant

. ‘.r g ;-"Draw and explaln srmple dry frults
Ll | “OR.C
b ‘:.:.- Descrlbe types of seed germmatron




erte a note on fertlhzatlon

. : 15 a ”,}‘,;Comment on dry mdehlsccnt frults

. 'ZDlscuss cross polhnatlon

| Answer ALL questlons '

ALL qucstlons carry EQUAL Mark's::' &

,_ Enﬁiﬁerate thelracemo_se 1nﬂorescencc.

P OR Lo

nghhght the 1mportance of b1010g1ca1 clock
. OR

- Pomt out the photomductlon of ﬂowenng

'Summarlze the abnormahtles in pollen germmatmn

o , . ‘ OR
Dlscuss the structure of ovulcs B

OR

] Elumdate the methods of breakm‘g. secd dormancy

Z-Z—Z

. o
e Lo
s 4 ~

(5x6=30

x Explam the developmcnt of endosperm haustona
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